175'-0"

75’_0”
2H:1V S.B.P.\ 138"
75”7 {/////41\// SI}Ji//// 1020
TYP / -
"( )" X 26/ 24 2/2//20//1 167 44,4 1/
—— f f i fi f f Mt I | i/n I LJ{JLJLJfLL f i i f f i T
13 11,.L 9
40 39 38 37 36 35 34 33 32 31 29| 27 25 23 21|19 \1‘7 (_ngE)P) 8 7 6 5 4 3 2 1
" 15
37 152"—‘* — o0 2270P Impact
(TYP) 1100C Impact Test No. MGS7S-2
Test No. MGS7S-1
PLAN VIEW
a2 (a1l a1l y—=—al y—=—al =—al y~—al ) ~=—al ) =—al ==—al ==—al »=—al »—=—al
Hf W ] I L] ] ] 'l ] ! / '/ l/ ] L] ] T 1] L]
| / /
iJI Ili | l l 1 | | 1 /A‘ A % % | l 1 l I l i |
A B‘J 3111
ELEVATION VIEW
Notes: (1) Test No. MGS7S—1 shall be performed according to test designation no.
3—10 of MASH criteria.
(2) Test No. MGS7S—2 shall be performed according to test designation no.
3—11 of MASH criteria.
(3) '%'I'}@ ig;}pocttlocotionfs cnreJE 8’ u%s(}re((ﬁ/lrgsgg pzo)st no. 20 (MGS7S—1) and —
—6" upstream of post no. —2). . :
P P WI MGS with Half Post [t 1
(4) BCT anchors are placed in ¢ 3’ holes, then backfilled and tamped with )
soil. Spacing DATE:
(5) Critical region is between post nos. 9 and 31 (¢3 holes7)‘ All posts on Test Nos. MGS7S—1-2 1/20/2022
slope (post nos. 9 through 31) need to be spaced at 37 1/2". TV
. H H . . System LGyOUt MJIM/JRF/G
6) The compacted slope shall be constructed prior to installing the posts. /IRF/
©) Auger hoFIDes and plgce the posts at the slope break point.gBockfiFljl and Midwest ROO'C!SIde SWe NAVE SCALE 290 :Ev =
compact soil around the posts, recreating the 2H:1V fill slope. Sofety FOCI|Ity j i v C T
MGS7S_RS UNITS: in. RWB,/JCH




31" @/V _____ 32"
e
i 40"
EL_J N
SECTION A—A

Post Nos. 3—8 and 32—38

cl
31" 32"
Ground
Line
2H:1V Slope
52"
60"
1]
| ||
120" |
¢
Post
SECTION B—B
Post Nos. 9—31
SHEET:
Wl MGS with Half Post ;o 1s
Spacing AT

Test Nos. MGS7S—1-2 1/20/2022
. DRAWN BY:
Midwest Roadside| "o "' /o
Sofety FOCIllty DWG. NAME. SCALE: 1:25 |REV. BY:
MGS7S_R5 UNITS: in. RWB/JCH




] g
I Es les Exe
| 5w 8> |E3FRZ
0|| | o}
3
+ ~N = L f
3 | S |g¢
o — 8L B3
g e
— ) ~N =
T 72 a
S o @
= = = I
" =
s - > 8§
(@] -
nm Mw c Z b
_LI_ M.n'.v g} rr._%
O o n :
e — O @ .m Z 5
z= = 0V E W lss
ov) z
=X
= (D)
&)
OZ O
_Ln_B = >
()] [ =}
O=
(o) O o
pzd o Ne)
Ll Xl
)
3
N Wr.|
o 5.2
=)
> .
- =
n
[e]
[a

LI
I
H
n |
[} |
n |
[} |
i
i |
i |
n |
[} |
n |
[} |
1
]
] L
H A
H I
0 |
n |
0 |
n |
0 |
n |
T
H I
|
:
Post No. 31 |
|
|
|
|
|
|
l
d3
;%

|

I

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
Post No. 30

SPLICE DETAIL
BACKSIDE
c2
I A

&
B8

3
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

Post No. 29

a2 Lo
IR

DETAIL C
SCALE 1:8




DETAIL D

gy e p—p—p———

fee—————————————

\/

DETAIL F

‘e 2

el

DETAIL E

Midwest Roadside
Safety Facility

R SHEET:
WI MGS with Half Post 4 of 13
Spacing DATE:
Test Nos. MGS7S—1—2  |/?/%%

DRAWN BY:
BCT Anchor Details MJIM/JRF /G
HR

DWG. NAME. SCALE: 1:6 REV. BY:

MGS7S_R5 UNITS: in. RWE/JCH




PLAN
3/4"—

—

7 1/8"

R

@3/4”/

L1l |
ELEVATION VIEW

e

VIEW

PROFILE VIEW

Part a4

” 6”
12 4 1/4"
b .
7 1/8 L $3/4
14 1/4" —m====m===
PROFILE VIEW ELEVATION VIEW
Part a6
” 6”
12 "I L1 3/4”
7 1t/8" ‘ /—<z>3/4”
14 1/4" fenfenfenfenfenfes pubguien —— o*]
PROFILE VIEW ELEVATION VIEW
Alternate Blockout Option —
6"x4"x14 1/4" Blockout
with 6"x8"x14" 1/4” Blockout
6 g’ 6"
4" - 1 3/4" T ~ 1 3/4
b $3/4" b
7 1/8 e 7 1/8
14 1/4" —=z- ¢ 14 1/4"g===== l @
‘&—¢3/4”
PROFILE VIEW ELEVATION VIEW PROFILE VIEW ELEVATION VIEW
6"x4"x14 1/4” 6"x8"x14 1/4”
Blockout Blockout

Spacing
Test Nos.

Post Components

Midwest Roadside

Wl MGS with Half Post

MGS75—1-2

SHEET:
5 of 13

DATE:
1/20/2022

DRAWN BY:
MJM/JRF/G
HR /IRE/

DWG. NAME.
MGS7S_R5

Safety Facility

SCALE: 1:16
UNITS: in.

REV. BY:
RWB,/JCH




3/16” 13 15/16”
(TYP)}: : il f 3/16"
10 5 7/ T
B iy .
J PLAN VIEW -
PLAN VIEW PLAN VIEW
1/4” » » »
0] /” 3 _|.__| I1 4—|-_—
3/?”_.1 ~ ! /@——r
71/8" “,‘__ o , , ¢3/4"—"
2 3/4" 7 1/2" 17"
s B o v
I
/ i Lo
®3/4 i \ ===l 6}\
I
i ¥<zs1”
' \—<z>3/4
I
] 23 7/8"
I ”» »
i 3 3/4 —<—-‘ 46 77
I
| _____
] T g2 12D
| g4’ q\ """ B
I
I 17 1/2”
i \—®7/8" /
i 5 1/2”
! 6 8"
i ELEVATION VIEW  PROFILE VIEW
!
i
! Part b1
I
I
I
i ELEVATION VIEW PROFILE VIEW
i Part b2
: SHEET:
I Wl MGS with Half Post 6 of 13
I
L Spacing DATE:
Test Nos. MGS7S—1—2  |/?/%%
ELEVATION VIEW PROFILE VIEW S
. ) BCT Timber Post, Foundati
Part as Midwest Roadside| Tube, and Slope Post Details |/
Sofety FO Ci“ty DWG. NAME. SCALE: 1:16 REV. BY:
MGS7S_R5 UNITS: in. RWB/JCH




p1 1/8" -3 3/8"
‘ 11/2"

2 3/4” \@ —1 3/8" H 1 1/8"
] N
1
ELEVATION VIEW PROFILE VIEW
Anchor Bracket End Plate
Three Sides /475 1 /z\ Anchor Bracket
""""""""""""" : 13/16"
e o o o——+
t
3/4” (TYP) PLAN VIEW
2"—| 4 4” 4 |2 1 3/
5 5/8” @
T =
- 55°
ELEVATION VIEW PROFILE VIEW
Part b5

ELEVATION VIEW

ELEVATION VIEW

5/8"—~ }=
PROFILE VIEW
Part b6
®2 3/8"
5/32" a
PROFILE VIEW
Part b7
SCALE 1:4

Wl MGS with Half Post

Safety Facility

Midwest Roadside| Anchor Bracket

SHEET:

7 of 13
Spacing DATE:
1/20/2022
Test Nos. MGS7S—1-2  |*
DRAWN BY:
BCT Post Components & MJM,/JRF/G
HR
DWG. NAME. SCALE: 1:8 REV. BY:
MGS7S_R5 UNITS: in. RWE/JCH




PLAN VIEW

8 1/2"}-
Strut Yoke i “ e 3/16”
hﬁ%‘o | = 5 1/2" F
f R5/16" (TYP)
‘ 75” ‘
[ 78” 1
ELEVATION VIEW »
Part b3 I VL T
3”; T q/2”
R1/2" » ”
7/8 2
Yoke (stlo X
67" R1/2" (TYP) 3"
T
i
ELEVATION VIEW PROFILE VIEW
6"x3” 10 Gauge Strut
SHEET:
WI MGS with Half Post 8 of 13
Spacing DATE:
Test Nos. MGS7S—1—2  |/?/%%
: . .| Ground Strut Details ot/
Midwest Roadside HR
Sofety FOCIllty DWG. NAME. SCALE: 1:16 |REV. BY:
MGS7S_R5 UNITS: in. RWE/JCH




78 3/4"

49 3/4"

o | Y S

$3/4” 6x19 IWRC IPS Coble/

ELEVATION VIEW
Part b4

1511

\—
"o _/ L_p1 1/4"
1”7 Dia. Hex Nut / | \Stondord Swaged ® /

$1.1/2 Fitting
1" Dia. Plain Round Washer

DETAIL G

SCALE 1:4
1"—8 UNC_Stud
Threaded Entire Length

Note: (1) 6x25 IWRC meet the minimum breaking strength of 42.7 kips and . .
may be substituted for the 6x19 IPS cables. Mlgdov]\ﬁgf; Eggiﬁ%'/de

Wl MGS with Half Post

SHEET:

g of 13
Spacing DATE:
1/20/2022
Test Nos. MGS7S—1-2  |*
DRAWN BY:
BCT Anchor Cable MJIM/JRF/G
HR
DWG. NAME. SCALE: 1:8 REV. BY:
MGS7S_R5 UNITS: in. RWE/JCH




Safety Facility

MGS7S_R5

UNITS: in.

87 1/2” "8 1/2"“ 2
43 3/4” // = =
— P S | R1/2” x 1 1/4” Slot
S § (=)
37 1/2" (TYP) o =)
PROFILE VIEW \
ELEVATION VIEW \ = =
DETAIL H
SCALE 1:10
162 1/2”
43 3/4” 37 1/2” (TYP)—]
S — - — S — S 2
$3/4” x 2 1/2" Slot (TYP) / .
ELEVATION VIEW / \
Part al / o o o o
o () () O\
\\ /
162 1/2” >&@3/4" (TYP)
59”
_ _ /—‘l\ _ _
—— = — DETAIL |
— = '\oooo/":’ = — SCALE 1:10
43 3/4” ~—37 1/2" (TYP)— ®3/4” x 2 1/2” Slot (TYP)
ELEVATION VIEW
Part a2 :
art a WI MGS with Half Post | u s
Spacing DATE:
Test Nos. MGS7S—1—2  |/*/**
DRAWN BY:
Midwest Roadside Rail Section Details MM /JRF /G
DWG. NAME. SCALE: 1:30 REV. BY:

RWB,/JCH




__45/8"
85/ Part c1
'———‘»1 1/4"
j;5/8"—11 UNC
Part ¢c2
L 10"
| | .
Q | I
—(255/8" Z’
Part ¢3 5/8"—11 UNC
<——‘—1 1/27
— 5/8"—11 UNC
Part c4
10"

—®#5/8 Part ¢5
8”
|——2 1/2"—=
—¢7/8" Z .
@7/ 7/8"—9 UNC
Part c6

$11/16” ®1 3/4”
.
_____________ | ‘ 1/8"
/5;8"—11 UNC

ELEVATION VIEW PROFILE VIEW

Part el

®15/16 @2 1/4"
15/1 6"—‘———‘ |—-—|—9/16” ‘ 3/16”

Part d1

B

ELEVATION VIEW PROFILE VIEW

Part e2

Part d3

ﬁ5/8"

©) =

Midwest Roadside
Safety Facility

SHEET:
Wl MGS Wlth HOlf POSt 11 of 13
Spacing DATE:
1/20/2022
Test Nos. MGS7S—1-2 720/
DRAWN BY:
Fasteners MJM/JRF/G
HR
DWG. NAME. SCALE: 1:3 REV. BY:
MGS7S_R5 UNITS: in. RWB/JCH




I’,c\leom QTY. Description Material Specification Treatment Specification Hoé’gi\gljgre
al 12 [12°=6" 12—gauge W—Beam MGS Section AASHTO M180 ASTM A123 or AB53 RWMO4a
a2 2 |12'-6” 12—gauge W—Beam MGS End Section AASHTO M180 ASTM A123 or AB53 RWM14a
a3 1 |6'=3" 12—gauge W—Beam MGS Section AASHTO M180 ASTM A123 or AB53 RWMO4a
” ASTM_A992 Min. 50 ksi or
a4 13 [W6x9 or W6X8.5, 72 LOI’]g Steel Post ASTM A36 Min. 36 ksi ASTM A123 PWEOG6
» ASTM_A992 Min. 50 ksi or
ab5 23 [W6x9 or W6X8.5, 84 |_Ol’1g Steel Post ASTM A36 Min. 36 ksi ASTM A123 PWEOQO7
a6 | 36 [6x12x14 1/4” Timber Blockout for Steel Posts | AASHTO M168 or SYP Grade AASHTO M133 PDB10a
a’ 36 [16D Double Head Nail - - -
. . AASHTO M168 or SYP Grade
b1 4 |BCT Timber Post — MGS Height No. 1 or better AASHTO M133 PDFO1
b2 4 |72” Long Foundation Tube ASTM A500 Gr. B ASTM A123 PTEO6
b3 2 |Strut and Yoke Assembly ASTM A36 ASTM A123 PFPO2
b4 2 |BCT Cable Anchor Assembly - - FCAO1
b5 2 |Anchor Bracket Assembly ASTM A36 ASTM A123 FPAO1
b6 2 |8"x8"x5/8” Anchor Bearing Plate ASTM A36 ASTM A123 FPBO1
b7 2 |2 3/8” 0.D. x 6” Long BCT Post Sleeve ASTM A53 Gr. B ASTM A123 FMMO2
c 36 |5/8” Dia. UNC, 14" Long Guardrail Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 FBBO6
c2 |112|5/8” Dia. UNC, 1 1/4” Long Guardrail Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 FBBO1
c3 4 |5/8”" Dia. UNC, 10" Long Guardrail Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 FBBO3
c4 16 |5/8” Dia. UNC, 1 1/2” Long Hex Head Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 FBX16a
ch 4 |5/8" Dia. UNC, 10" Long Hex Head Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 FBX16a
ch 4 |7/8" Dia. UNC, 8” Long Hex Head Bolt ASTM A307 Gr. A ASTM A153 or B695 Class 55 or F1941 or F2329 —
R SHEET:
Wl MGS with Half Post 12 of 13
Spacing DATE:
Test Nos. MGS7S—1-2  |/*/%%
Bil ¢ Material DRAWN BY:
. . ill of Materials
Midwest Roadside H /e
Sofety FO Ci“ty DWG. NAME. SCALE: None |REV. BY:
MGS7S_R5 UNITS: in. RWB/JCH




Item

No. QTY. Description Material Specification Treatment Specification Hoé'gigoere
d1 24 |5/8" Dia. Hex Nut ASTM A563A ASTM A153 or B695 Class 55 or F1941 or F2329 FNX16a
d2 4 |7/8" Dia. Hex Nut ASTM A563A ASTM A153 or B695 Class 55 or F1941 or F2329 -
d3 |148|5/8" Dia. Heavy Hex Nut ASTM A563A ASTM A153 or B695 Class 55 or F1941 or F2329 FNX16b
el 44 15/8" Dia. Plain USS Washer ASTM F844 ASTM A123 or A153 or F2329 FWC16a
e2 8 |7/8" Dia. Plain USS Washer ASTM F844 ASTM A123 or A153 or F2329 FWC20a
R SHEET:
Wl MGS with Half Post 13 of 13
Spacing DATE:
Test Nos. MGS7S—1-2  |/2/%%
Bil ¢ Material DRAWN BY:
. . ill of Materials
Midwest Roadside H/ e/
Sofety FO C”ity DWG. NAME. SCALE: None |REV. BY:
MGS7S_R5 UNITS: in. RWB/JCH




System: WI MGS with Half Post Spacing Revision History
Drawing: MGS7S
REV. DATE OF ISSUE Page NATURE OF CHANGES REVIEWER REVISED BY
0 3/10/2020 _  |Original Document created. _ MJM
1 Edited note 5 to say critical region is between post nos. 9 and 31.
1 3/25/2020 3 |Removed nut from detail C. RWB MJM
6 Moved dimensions on part a5 for clarity.
11 |Edited part el inner diameter to be 11/16".
1 Edited note 1 and impact descriptions.
2 4/1/2020 KAL MJM
BOM |Edited part c6 description to match part dimension.
1 Edited note 5. Flipped the impact direction to be coming from the right
3 4/2/2020 and changed post numbering to reflect this change. KAL MJIM
5 Edited part al label to part a4.
Slope was shifted longitudinally such that it starts between post nos. 8 and
4 6/10/2020 1 9 and ends between post nos. 31 and 32. A post was added between 9 KAL JRF
and 10, and post no 31 was removed.
3 Removed note on hidden post. Labeled post nos. in splice detail.
4 Hid ground in Detail F.
5 Added dimensions to Plan View for Part a4. Swapped labels for blockouts.
5 1/20/2022 Moved dimensions to within page boundaries. KAL GHR
6 Added dimensions to Plan View for Part a5. Added centerlines to Plan View
for Part b2.
11 Added centerlines to Parts d1, d2, and d3.
BoM [|Updated quantities and HWG descriptions





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


